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Test One

Part 1 Listening Comprehension (20 minutes)

Section A

Directions . In this section, you will hear 10 short conversations. At
the end of each conversation, a question will be asked about what
was said. Each conversation and question will be spoken only
once. After each question there will be a pause, During the
pause, you must read the four suggested answers marked A).
B), C) and D), and decide which is the best answer. Then mark
the corresponding letter on the Answer Sheet with a single line
through the centre.

Erample. You will hear.

You will read: A) 2 hours B) 3 hours

C) 4 hours D) 5 hours
From the conversation we know that the two are talking about
some work they will start at 9 o’ clock in the morning and have to
finish at 2 in the afternoon. Therefore, ‘D) 5 hours’ is the correct
answer. You should choose answer [ D] on the Answer Sheet and

mark it with a single line through the centre.
Sample Answer [A] [B] [C] [B]

I. A) She thinks there is too much noise.



B) She likes talking with powerful people.
C) She wasn’t paying any attention to him.

D) She’s amazed that the man didn’t hear her.

R%]

. A) The woman can read the magazine on the train.
B) The woman left the magazine in the waiting room.
C) There’s no time to buy a magazine.

D) They don’t have to pay for the magazine.
3. A) Two doors down. B) On the floor above.
C) To the right. D) Next to the stairs.
4. A) Judy came to the party.
B) Judy planned the party.
C) Judy hasn’t appeared yet.
D) Judy hasn’t any imagination.
5. A) He doesn’t live in the school dormitory anymore.
B) He’s busy moving into a new room.
C) He’s come back to school this term.
D) He is taking a walk on the campus.
6. A) She wants to know who the students are.
B) She’s especially eager to meet the person in charge of money.
C) She wants to grect the president.
D) She’s sure she has met the president before.
7. A) Finish putting her book away.
B) Stop what she is doing.
C) Finish her work elsewhere.
D) Help the man a little later.

8. A) He will be earlier than they will.

B) There will be four people without him.

C) His place will already be taken.
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D) He will save his money for the play.
9. A) One. B) Two.
C) Three. D) More than three.
10. A) He enjoys watching people dance.
B) He doesn’t think dancing is very hard.
C) He dances very well.

D) He might not really like dancing.

Section B

Directions : In this section, you will hear 3 short passages. At the end
of each passage, you will hear some questions. Both the passage
and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices
marked A),B),C) and D). Then mark the corresponding letter

on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based or the passage you have just heard.
11. A) The advantages of refrigeration.

B) Cooking food in the summer.

C) Food spoilage in the summer.

D) Fun in the summer.

12. A) Cookies. B) Chicken.
C) Eggs. D) Ice cream.
13. A) Eat it immediately. B) Try a little.
C) Throw it away. D) Cook it thdrough]y.



Passage Two

tuestions 14 to 16 are based or the passage you kave just heard.

14.

15.

16.

A) Count money. B) Read and write.

C) Draw moving objects. D) Hunt and farm.

A) Because teachers came tc children’s homes.

B) Because children acquired the information they needed by di-
rect experience.

C) Because children taught one another in small supervised
groups.

D) Because parents instructed their children in the “three R’s”.

A) A new dependence on people far away and the use of mon-
ey.

B) The introduction of a new alphabet and numerical system.

C) Outmoded methods of farming and ineffective means of
transportation.

D) Larger family units and greater financial hardships.

Passage Three

Questions 17 to. 20 are based on the passage you have just heard.

17.

18.

19.

A) Declined. B) Depleted.
C) Limited. D) Unlimited.
A) The land and the air.

B) Important species for conservation.
C) The American animals.
D) The African and Asian animals.
A) The Indian Tiger and the American Eagle are important.
B) None of the great sea fisheries are to be exhausted.
C) Fish supply has no effects on people.
e



D) Sca resources are important to people.
L
20. A) 20 billion. B) 200 billion.
C) 20 million. D) 200 miliion.

Part I  Reading Comprehension (35 minutes)

Directwons ; There are 4 passages in this part. Each passage is followed
by some questions or unfinished statements. For each of them there
are four choices marked A).B),C) and D). You should decide on_
the best choice and mark the corresponding letter on the Answer

Sheet with a single line through the centre.

Questions 21 to 2:5 are based on the follounng passage

Drunken driving—sometimes called America’s socially accepted
form of murder —has become a national epidemic. Every hour of ev-
ery day about three Americans on average are killed by drunken
drivers, adding up to an incredible 250,000 over the past decade.

A drunken driver is usually defined as one with a 0. 10 blood
alcohol content or roughly three beers, glasses of wine or shots of
whisky drunk within two hours. Heavy drinking used to be an ac-
ceptable part of the American macho (fit:H: 5 ) image and judges
were lenient ($& <Ay ) in most courts, but the drunken slaughter has
recently caused so many well-publicized tragedies, especially involv-
ing young children, that public opinion is no longer so tolerant.

Twenty states have raised the legal drinking age to 21, tevers-
ing a trend in the 1960s to reduce it to 18. After New Jersey lowered
it to 18, the number of peaple killed by 18 ~ 20-year-old drivers
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more than doubled. so the state recently upped it back to 21.

Reformers, however, fear raising thé drinking age will have lit-
tle effect unless accompanied by educational programmes to help
young people to develop “responsible attitudes” about drinking and
teach them to resist peer pressure to drink.

Tough new laws have led to increased arrests and tests and, in
many areas already, to a marked decline in fatalities. Some states
are also penalizing bars for serving customers too many drinks. An
inn in Massachusetts was fined for serving six or more double
brandies to a customer who was “obviously drunk” and later drove
off the road, killing a nine-year-old boy.

As the fatalities continue to occur daily in every state, some
Americans are even beginning to speak well of the 13 years of na-
tional prohibition of alcohol that began in 1919, what President
Hoover called the “noble experiment”. They forget that legal prohi-
bition didn’ t stop drinking, but encouraged political corruption and
organized crime. As with the booming drug trade generally, there is

no easy solution.

21. Drunken driving has become a major problem in America be-
cause
A) most Americans are heavy drinkers
B) Americans are now less shocked by road accidents
C) accidents attract so much publicity
-P) drinking is a socially accepted habit in America

22. Why has public opinion regarding drunken driving changed?

A) Because detailed statistics are now available
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24.

25.

“B) Because the news media have highlighted the problem

C) Because judges are giving more severe sentences

D) Because drivers are more conscious of their image

. Statistics issued in New Jersey suggested that °

A) many drivers were not of legal age

B) young drivers were often bad drivers

C) the level of drinking increased in the 1960s
"B'?v'ihe legal drinking age should be raised

Laws recently introduced in some states have

A) reduced the number of convictions

“B) resulted in fewer serious accidents

C) prevented bars from serving drunken customers
D) specified the amount drivers can drink

Why is the problem of drinking and driving difficult to solve?

A) Because alcohol is easily obtained
B) Because drinking is linked to organized crime
“€Y, Because legislatjon alone is not sufficient

b) Because legal prohibition has already failed

Questions 26 to 29 are based on the following passage .

Geologists have been studying volcanoes for a long time.

Though they have learned a great deal, they still have not discovered

the causes of volcanic action. They know that the inside of the earth

is very hot, but they are not sure exactly what causes the-great heat.

Some geologists have thought that the heat is caused by the great

pressure of the earth’s outer layers. Or kthe heat may be left from the

time when the earth was formed. During the last sixty years scien-
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tists have learned about radium, uranium. thorium (%4f). and other
radioactive elements. These give cut heat all the time as they change
into other elements. Many scientists now believe that much of the
heat inside the earth is produced by radieactive elements.

Whatever iliec cause of the heat may be, we do know that the
earth gets hotter the farther down we dig. In deep mines and oil wells
the temperature rises about 1° F, for each 50 feet. At this rate the
temperature 40 miles below the earth’ s surface would be over
4,000° F. This is much hotter than necessary to melt rock. Howev-
er, the pressure of the rock above keeps most materials from melting
at their usual melting points. Geologists believe that the rock deep in
the earth may be plastic, or putty-like. In other words, the rock
yiel.ds slowly to pressure but is not liquid. But if some change in the
earth’s crust releases the pressure, the rock melts. Then the hot, lig-
uid rock can move up toward the surface.

When the melted rock works its way close to the earth’s crust,
a volcano may be formed. The melted rock often contains steam and
other gases under great pressure. If the rock above gives way, the
pressure is released. Then the sudden expansion of the gases cau:es
explosions. These blow the melted rock into pieces of different sizes
and shoot them high in the air. Here they cool and harden into vol-
canic ash and cinders (4z ¥+3#t). Some of this material falls around
the hole made in the earth’s surface. The melted rock may keep on
rising and pour out as lava (4% ). In this way, volcanic ash, cin-
ders, and lava build up the cone-shaped mountains that we call vol-

canoes.

26. The subject of this passage is the tr .
« 8 '



= formation of volcanoes
Bj results of volcanic action
C) work of geologists
D) causes of the earth’s internal heat
27. The cause for the heat in the interior of the earth is
/‘/ N
A) radioactive elements
B) the great pressure of the earth
~C) not determined
D) the heat remaining from the formation of the earth
28. From the information/given in the passage, most minerals would
melt fastest | "é: .
Aﬁ at 4000° F. at sea level
B) at 4,000° F., 5,000 feet below sea level
C) at the exact center of the earth at 4,000° F
“P) at 4,000° F. , 5,000 feet above sea level
29. If the temperature at the earth’ s surface is twenty degrees
Fahrenheit, the temperature in a coal mine 500 feet below the
surface would, in degrees, be e | .
A330 B) 40 C) 50 D) 120

Questions 30 to 34 are based or the following passage .

Whether there are sailors who sail without charts is doubtful,
but there certainly are travellers who prefer to journey with no map
to guide them, and readers who are contemptuous of books abput
books.. They gain no profit, they say, by looking at things through
the eyes of others. But this impromptu (J; #E 45 #% ), uninstructed
way of grasping at masterpieces in spontaneous leaps of feeling is but
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a poor way of learning how to enjoy them. The first surprise and
flush of prompt delight is, of course, of great, perhaps the greatest,
value; but a true appreciation is based on something more than feel-
ing. it demands that we should not only enjoy, but understand our
pleasure, and make it food for thought; should learn the esthetic (&
F ) reasons for it, and learn also all we can about the origins and
environments of the monuments and masterpiecés we gaze on. To
undgrstand them we must know their place in history, and their rela-
tive position among other masterpieces. And I at least find that my
vision of the things I like is greatly enhanced and clarified by seeing
them reflected in the luminous minds of other people. Esthetic appre-
ciation is, luckily, a thing that can be communicated, can be learnt
from others—the glow of it is a catching fire. How often an admira-
tion spoken of by someone we admire —sometimes the mere mention
of a preference — has opened for us the gate into a new world of
beauty. And certainly the debt 1 owe to the great interpreters of liter-
ature is far too large to allow me to join in the common abuse of crit-
ics; they have given me ears, they have given me eyes, they have
taught me—and have taught all of us really —the best way of appre-
ciating excellence, and how and where to find it. How many sights
unguided travellers pass by! How many beauties readers of great

works will miss, if they refuse to read the books about them!

30. The main idea of the passage is that
A) we must get feelings from reading
-B). we can get insight into books by reading others’ interpreta-
tions of them
C) we don’t need a map to get the most from our travels
« 10«



D) we must study more in-depth about the books we read

31. Some people are contemptuous of books about boaks. This means

A) they are too lazy to read them
B) they are too busy to read them
C) they think it not pleasurable to read them
B) they look with scorn at them
32. Which of the following is not mentioned by the author?

A) Students without instructors

B) Travellers without maps

C) Readers without cémmentaries

D) Sailors without charts
33. Reading an interpretation of a book can

A) make reading the book much easier

B) make reading the book more pleasurable

€) make one more appreciative of the excellence of the book

D) make one become more full of feeling
34. The best title for this passage would be

A) Sailors Without Charts

B) A Poor Way of Learning

C) Food for Thought

‘D) Books about Books

Questions 35 to 40 are based on the followirg passage .
Every profession or trade, every art, or every science has its
technical vocabulary, the function of which is partly to designate
L] ll .



